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EAPLESBEXRER (AR) EERE 2018 4= 3 A
At 1E
p.232 | v(t) = -+ = 2V, cos(6/2) sin wt v(t) = =2V, cos(6/2)sin(wt + 6/2)
3
p.239 . di(t) . . di(t) .
) =Ri(t) +L = 205sin 100t + v(t) = Ri(t) +L = 205sin 100t +
3 dt dt
10 cos 100t = 10+/5 sin(100t + 20 cos 100t = 20+/2 sin(100t +
0.4637) [V] 0.785) [V]
Lo T, Z=5/5Q, ¢= Lo T, Z=1012 Q, ¢ =
0.463rad, FEENEN LY 0.463rad #EA T | 0.785rad, EENEFEL Y 0.785rad #EA T
W3, W5,
p.239 | i(t) = V,/Zsin(wt —@)TH D515, 3.0 |i(t) =V, /Zsin(100t — @) THHMn5, 3.
4 @HREv, Z=5/5,p=0463radzfiy | OfERLY, i(t) = 1/v2sin(100t —
< i(t) = 2/4/5sin(100t — 0.463)[A] 0.785)[Al
p.239 _ 1. _ 1, .
L v(t) = Ri(t) + Ef i(t)dt = v(t) = Ri(t) + Ef i(t)dt = 40sin 100t —
40sin 100t — 10 cos 100t = 20 cos 100t = 20+/5sin(100t —
10v/17 sin(100t — 0.245) [V] 0.464) [V]
Z =5V17 , ¢ = 0.245rad Z=10V5Q, ¢ =0.464 rad EF
MNEI LD 0.464rad EIL TV D,
p.239 | i(t) =V,/Zsin(100t + 0.245) = i(t) = V,,/Z sin(100t + 0.464) =
9 0.485 sin(100t + 0.245) [A] 0.447 sin(100t + 0.464) [A]
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